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2 ce¥(aq) + Sn(EF> sn?(aq) +2 Ce¥'(ag)

2. The diagram below shows a galvanic cell based on the reaction represented above.,
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Label the anode and cathode in the diagram.
Label each electrode with an appropriate metal.
What icns will be found in solution in each half-celi? Fill them in on the diagram.

The diagram includes a salt bridge that is filled with a saturated solution of NaBr. Draw what happens in
the salt bridge as the cell operates on the diagram above.

Circle the electrode that wilt lose mass as the reaction progresses. As the mass is “lost”, where does it
go? - . .
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Put a rectangle around the electrode that will gain mass as the reaction progresses. Where does this
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g. Use the following reductior{potentials to calculate the voltage measured on the voltmeter shown

above, o
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voltaic cell is kreated using the half-cells shown below. Tlﬁconcentratmns of the solutions in each half-cell are 1.0 M.
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3. Which of the following occurs at the cathode? Vé’.ck Gq't
a. Cr'isreduced to Cr(s). ‘5( Cr(s) is oxidized to crt
Pb** is reduced to Pbi(s). Y Pbis) Is oxidized to Pb*",

4, Which of the following !i)est describes the activity in the salt bridge as the reaction progresses?
X Electygns flo»{through the salt bridge from the Pb/Pb half-cell to the Cr/Cr** half-cell.
b. Pb*" flows to the Cr/Cr 3 half-cell, and cr** flows to the Pb/Pb2+ half-cell.
c. Na'flows to the Cr/Cr*" half-cell, and CI” flows to the Ph/Pb** half-cell,
Na" flows to the Pb/Pb*" half-cell, and CI” flows to the Cr/Cr** half-cell.

5. Based on the given reduction potentials, which of the following would lead to a reaction?
@ Placing some Cr{s) in a solution containing Pb?* ions.
b. Placing some Pb(s) in a solution containing cr* ons.
}s( Placing some Cr(s} in a solution containing cr’ions.

‘ﬁi Placing some Pb(s) in a solution containing Pb** ions.

6. Which of the following statements applies to the change in mass of the electrodes involved in this
electrochemical cell?

a. Cr(s)is the cathode and it gains mass since metal ions are being converted to metal atoms which often
adhere to the electrode.

Pb{s) is the cathode and it gains mass since metal ions are being converted to metal atoms which often
= adhere to the electrode. Fa¥ cat !

¢. Cr{s}isthe anode and it gains mass since metal ions are being converted to metal atoms which often
adhere to the electrode.

d. Ph{s)is the ancde and it gains mass since metal lons are being converted to metal atoms which often
adhere to the electrode,



